ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK,DB)\C - Drawings\TX-4647.50.dwg

g
'c:::" ’.. 1 o R
POWERED BY )W EZCE g5, B
dl £o:7 1%} g% g &8
. 35f  ROb Sy o8 8-
I l 74" MAX. O.A. FRAME WIDTH »5&_:; XY Lo Z S5 Zd
) LTV T
® AT A 5 "§’ o g*
3,0 104 ik 289 33
DOOR COMPONENTS MADE IN THE USA . 9% 5 2§ Qg
N PR St -2
i tlléﬁ‘ 3 " 220 56
a oN: gw
oxz &
3 z58 S
- o o
g 2g5 9
50 B
g oo 5 5
] ] oF
Opagque Fiberglass Door LS
3 SO
[<}
"NON-IMPACT" °
8 %]
INSWING / OUTSWING w £ S
<Q < 7 n==
e £ o5 [
5 %9 °F
<2 <= =L
o= =% ) & 25
X X s |95
2 — w 5 3| 4
- © L wl
g E ) g}
& o |9 ES
ol |8£8
I gOF ®
EVALUATED FOR USE IN THE STATE OF TEXAS TD’ DR '85 1 oloh-
The Fiberglass Door system described herein complies with the 2018 international =|3|®
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building w
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following 8
conditions: 8 o
1. Anchors shall be as listed and spaced as shown in the details, Anchor % g
embedment to base material shall be beyond wall dressing or stucco. 8 Q 2
2. When used in areas requiring wind-bormne debris protection this product is © = o
required to be protected with an impact resistant covering that complies olz %
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. g Xl |
3. Allowable design pressure requirements must be equal to or less than the L
design pressure rating shown in the design pressure chart, sheet 1 of this E g
4. drawing. g8
Conditions not covered by this drawing are subject to further engineering 2 ?0
analysis. NN
=R
TABLE OF CONTENTS SSE
SHEET # | DESCRIPTION N : o
1 Typical elevations, design pressures & general notes XX INSWING +55.0 -55.0 +55.0 -55.0 oATE: 11702 1?
2 Astragal details {Ultimate Multipoint} - - / /
3 Astragal details {Utimate Humicane) XX OUTSWING +55.0 -55.0 +55.0 .55.0 SCALE:  N.T.S.
4 | Door panel details DWG. BY: JK
5 | Horizontal & vertical cross sections cHk. B:  LFS
é Vertical cross sections DRAWING NO.:
7 Frame anchoring TX—4647
SHEET _1 oF _7

@ 2016 R.W. BUILDING CONSULTANTS ING.



CONG BANVLINSNDO GNIgung "Mm'e 9102 )]

SNOISIAZY
ZS8Li—d # NOUVAISIORY 40 FLVOIALLMED - -
SYIINIONI TVNOISS3J0¥d 4O QNVO8 SVX3L Qz\mo.mﬂmma.ﬁ\%&zm@qe A8 dlvd [ONj©of | wlol ~ 7_
L616°'689°C18 FON SuOYd S47 ONLLSIL M3IN ¥Od4 31¥adn|8L/z0/04] | NI
: : ©
G6GEE ~14 OSHIDA 0SZ XO8 ‘O'd \SV@ X18N3SSY 80 LaVd [ 5971|3000 odl/oal 8102 OL 31vadn|iz/LL/1L] 2 8|z $9°
"ONI ‘SLNVLINSNOO ONIGTiNg S RARE X 2_
1 z -
€ZTILYOL# "F'd SVXAL VdNAN3 i w gy w m
‘T'd IPIUIYDS ‘4 uopuky 1Ay peJpdeud sjuswnooQq 19Nao0dd = Z151% 5
S22 -6
2855/ N
A
[2'4
5
oK
WOLOoE o $3
3 Y t o , -
; fog - <
g N 5 &
o9k ., N2 * 5 N Q
- b e, :o.@ &iﬂn\ - — o ] X
2 bx31 A0S i 5 - ! S
My mananeS & $ W
S .
2 =
O
& O o~
= [
® < 0
] - [=2] (%)
8 ih O g2
8 2 =
s (=) W
i < &
o <
A o N
. 4 - >
o Z ©
o e} #*
~ =
<
Q
9
R E L
N
T | 8Ll |
R H
m - i
Q §e)
z =
? |8
« g
N Fe;
" + 3
8 e 2
— S %]
= <
3
i 59T
i | ~
i < lis
s O %
Nw (72
o}
. O =
~ (1%} C
: fa"d b4
_— s, 2 2
dOl 3 € g Z
2 G e <
g @& = =
= (o] I =
3] o )
< 8 o >
5 = S o~
2 r &
o b
P o »
2 = = o
3 = 9
Q. \
g o > g
. g =
NO o
=3 2 ‘ A '/
!iﬁh“‘)ﬁ
£ 2 8 - el NN -
o = 3 \ 7 O
/ © w <
iy
< Q £ m
o = B £ %)
MM o= os 2 <C
7 3 & = b=
Y = S A o p _ nlu..
) 3 e ,.-I‘li s ©
m.gy..‘ yi &/ X ».;'«(lhllﬂ»", - M ..m Wv P
-, x 7 ~ 2 =
£ o - |
3 c 2 o} oD
£ i g 2 2
m x e > o
< )= g S 3 Ll
' ‘© (o] o) e e
2 0 2% £ <
2
3 S <9 £ =
: : =
2 5 5 < =
p Qo
g 5 \
S P ' ’

Bmp0g 2 y9r-XI\sBuimeld - S\(ga’y1) enbedo o4 cidiseld L§8-UQ - IQL\su] JO 3daq sexa] - S\LNINVINYIJ eInpu\susiO\Z



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LK,DBAC - Drawings\TX-4647.50.dwg

(2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE
(REINF. POLYMER)

{TRIM COVER REMOVED)

UPPER BOLT SLEEVE

{REINF. POLYMER)

{2) #8 X 1-5/8" PFH
WOOD SCREWS

1.75"

2.65"

S

0.063" —=t~=—

L

ULTIMATE HURRICANE ASTRAGAL

ASTRAGAL SECTION

5.8" —

HARDWARE LOCATIONS

5"

t«——*—t— 1.63"
Ty

i

BOLT RETAINER
(GF NYLON]

9.5" 4 i
$ |

SLIDE BOLTROD

oy T

(STEEL)

BOLT RETAINERS

SLIDE BOLT ROD

ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

#8 X 3/4" PFH WS

#8 X 3"PFH WS

BOTTOM

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

DEADBOLT STRIKE
PLATE

LATCH STRIKE
7 PLATE
LATCH & DEADBOLT DETAIL

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659,9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

n

=1

=L

&

P . 2
>

3 g =
= = O
Y] |_L|§
g =

< 2

5 o
2 o
o E
& =

>...

4[4

11/11/21|UPDATE TO 2018 IBC/IRC CODE
10/02/18|UPDATE FOR NEW TESTING

2
1

REVISIONS

L
S
3
z
6

DATE: 11/02/1

ScAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4647

SHEET _3 oF _7

© 2016 R.W. BUILDING CONSULTANTS INC.



CON| SUNVLIISNGDG aNIaung "m'"'sy 9102 @

ZS8LL~4 # NOLWNISIORN 40 ILVOLILNIO SNOISIATY
SYIINIONI WNOISSZAONd 40 Q¥vOd SVX3L w.wwﬁ%% .Wﬁm%@oumo A8 41v4_TONfw©ol | | 7_
L616°669°C1L8 FON BuOUg : S41 ONILS3L M3N ¥0d4 31¥adn[8L/zo/0L | | |vi|X L S,
S6SEE 14 OOUIPA OLZ Xo8 ‘O'd g@, ATBWSSV ¥0 I¥Vd | S47| 3000 Owil/981 8102 OL Alvadnlie/1i/ii] z | | 918
*ONI ‘SINVLINSNOD SNICNg N . g W_ 4_
=8| Ele
CZIYOLF 'I'd Svxal VANANI g m N B
I'd IPIWIYDS 4 uopuk :Ag peJdodelg sjuewnsoq 1oNaoHd m & W w m .w
oz
O
&
>3 Al o Sz
.—N-P E m
. . w V 13 .. a m
. R . 4 . 4~ . . N M. 1 - o % IR
..b. .V .tv.‘ T, .'.w. ' . Lo " .14 < A S o 4 o . MA e . ’ P » S
- .. .»..v... . s ....v.». el =nullln ”_”4.. ol 4 3 -v Vel ...4.. N e 17... m
. 2 rob SR : B4 Lo Tew s \\ > co v oW —
- 93 . Ja) . s ERE | 2l ~ B R e
o . . e Vg8 4 A
/ \ o/ S
P
o o
2T 22 x S g
a O Qx & Z <
eyel e = Q 2 e
@ 0 3 W
590
n‘.ﬁ — [} m
S <
a-
7 o O
| i
% ~
o =
>
L_ _f —
/w
5
- o
R Q
.b..v.‘s ....b. M
T e
ST
3 T
.4
a .. »4
. s 4
Lt =
- - ¥ AIU.
I R -
A 2
R * el
» .. [7¢]
“ // 4 m
%4 274 C
8 o 3
&% -
5 zZ &
tw = 0O
—\\ N
. Wy o
DRI nuw
v R
Ay mv
. -
v N
e Y
L
a. e vy
- .
A <
R A.c. iv m
o ol 75
e v d # g8
S T ed o Z o
T, S MW MWW z2
R == ol = X —( ) xl5F 8
f ey - ~ Ola 2 =5
v w @ a Q S
« - . . .h\.m‘\ N ey lO:.\B
x Q %] .w.Ru
! z 4=
T 5 2 ok
O &
B » = =F
S g, z m
O e L THOIEH ANV XYW .S 6L WM
L
QO x
O
20

BMp s L9p-X1\sBumeld - J\(ga) anbedo 94 oidisejd 158-HA - 1AL\l 40 3daq sexaL - S\LNINVINYId RINPUI\SIUBIDNZ



Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4647.50.dwg

)

\"4

=0

@ © «
><1

|

— DEADBOLT: KWIKSET SIGNATURE SERIES
(980/985)

P

-~ LATCH: KWIKSET SIGNATURE SERIES
(991)

v-

CORNER PADS (TYP.)

/

174" MAX. 015"
SHIM SPACE ~ CSINK
EXT. SHEATHING A\ (YP)
2X FRAMING T L #10 X 2.5" PFH WOOD SCREW
(G >=0.42) x /

— JAMB
ENDURA WEATHERSTRIP

(QEBD/PE 650}
EXTERIOR

N

DRYWALL / —/ \_ INTERIOR
#8 X 2.5 PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4" HINGE

m HORIZONTAL CROSS SECTION
W Inswing shown - Quiswing also approved

] 2X FRAMING o
B > _ ;,, :.'
T P le>=04z £
/114 C At
ey’ %Li':
EXT. SHEATHING \ / DRYWALL %

— #10 X 2.5" PFH

WOOD SCREW

1/4" MAX.

SHMSPACE [l

0.15"
C'SINK
(TYP)

DOOR PANEL ™

ui

\~ HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650}

EXTERIOR W INTERIOR

/3 "\ VERTICAL CROSS SECTION
W Outswing shown - inswing

also approved

ULTIMATE HURRICANE ASTRAGAL
ULTIMATE MULTIPOINT ASTRAGAL

/—‘ DOOR PANEL
x Xs

ENDURA WEATHERSTRIP
(QEBD/PE 650}

A\ Y

#8 X 3" PFH WS
#8 X 1"PFH WS

@ HORIZONTAL CROSS SECTION
5

Wy,
&N
-
ol
53
EZ a
£ o
G . "
0 M
. 0 o N
1 ﬁm
2
£ o
] o2
vé 0 ®
£ T D
) 3@
>
on
9
o
X
o
@
o
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

g
&)
B2
(Nle)
< ~5
& . B
) > 1)
S |5 2,
L o 59
@ NG
| ' S
-
2l %
0. 0.
>-
S
98]
o
'e]
O
o
2|2
Slal o
] g
2lF @
o
QIS =
gl |x
RI2
25
aSi{a
ala
o )
{0
N
NI
:8;
™\
SIS)P
N
DATE: 11/02/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4647

SHEET 5 oF 7

© 2016 R.W. BUILDING CONSBULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDi - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4647.50.dwg

\\

INTERIOR

/( EXTERIOR
DOOR PANEL
L
ENDURA
DOOR SWEEP
/1? / (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

71"\ VERTICAL CROSS SECTION

W inswing Adjustable Threshoid

DOOR SWEEP

\\

INTERIOR

EXTERIOR

DOOR PANEL

ENDURA \

NS
ENDURA E o
WEATHERSTRIP 1/ DOOR PANEL Ty L
(QEBD/PE 650),  NIERIOR EXTERIOR \DURA Ny 3
5 ] [ 2 i 5 L3 - )'.
WEATHERSTRIP,  INTERIOR EXTERIORE ™} =
(QEBD/PE 650) fﬁi “..‘ ",.O ",-'
¢ ?g%p 5 e
IQE{'*‘? PURLAR
W™

#10 X 2.5" PFH WOOD SCREW OR

174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW
/" 2>\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW O

\&/

w/ Pin Capture

Inswing Articulating Threshold

R

174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW
7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR {TW CONCRETE SCREW

m VERTICAL CROSS SECTION

——1.65"

6

INSWING ADJUSTABLE THRESHOLD
LAIL4565

! 4.56" !

INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

MAX. DESIGN PRESSURE = +50 PSF
{ULTIMATE HURRICANE ASTRAGAL)

INSWING ADJUSTABLE THRESHOLD
ZAILAA4565

w Outswing Bump Threshold

w Outswing Bump Threshold

4.56" 7!

456" | -

4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
LAIAA4565FN ZAI4565RDS
MAX. DESIGN PRESSURE = £50 PSF -
(ULTIMATE HURRICANE ASTRAGAL) MAX. DESIGN PRESSURE = +50 PSF

r*%
it

]—-————a 456"

4.56" !

454"
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
ZACLA565 7 ZACA4565FN IACLAA4565 IACAA4565FN ZACA4565RDS
MAX. DESIGN PRESSURE = 50 PSF . = 450 PSF MAX. DESIGN PRESSURE = +50 PSF MAX. DESIGN PRESSURE = £50 PSF MAX. DESIGN PRESSURE = 45 PSF
(ULTIMATE HURRICANE ASTRAGAL) MAX. DESIGN PRESSURE = 250 PS (ULTIMATE HURRICANE ASTRAGAL)

| - | ] )

Il e . (1= T @gﬁ

Al f f i

! 456" ,! ]r— 456" = ! 456" 1 l 456" !
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 QUISWING THRESHOLD 14 OUTSWING THRESHOLD
ZOBRLA545 ZOB4565FN ZOB4565RDS FOB4566

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O0. Box 230 Valrico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F~11852

Ry

Documente Prepared By:

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS

BY

11/11/21]UPDATE TO 2018 IBC/IRC CODE
10/02/18|UPDATE FOR NEW TESTING

1

2

REVISIONS

L
<€
[
3
p=s
6

DATE: 11,/02/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4647

SHEET _6 oF _/

© 2016 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-851 Plastpro FG Opaque (LKDB)\C - Drawings\TX-4647.50.dwg

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

% #8 X 2-1/2" PFH WS

— #8 X 3/4" PFH W$
~— 4" X 4" HINGE

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F~11852

— 2X FRAMING (BY OTHERS)
2.z
Qo<
o a & .
O X 6" Astragal Strike Plate
I=8 X 2 _ = (TYP) @ Head Jamb :
A (TYP.) l‘ 6" :
T ) |
T T I T N{ I == R P
SEE HINGE \' } T =7
DETAIL 1 \EE T DETAIL 1 *__\ ‘\\\
9 o & #10 X 2.5" PFH WS
~0 =
N L. =
"’ DETAIL 1
| 5 {
~0
|71 EEH T 1 ]
|® il ©
o L]
SEE HINGE #8X 1" PFH WS é:. ) e
DETAIL 2 | _
\\\
N . ey
tH * DETAIL 2 OR 3 == HINGE DETAIL 1
TN =8
(I
o = Y A\
£ (TYP) O
; #10 X 2.5" PFH WOOD SCREW - Li|0~
A . L - é
HINGE JAMB & ITW CONCRETE SCREW -
(TYP @ SILL) \)
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING v
CONCRETE (MIN. 3000 PSI XX
woé[) (G>= 0_42} HINGE DETAIL 2
*NOTE: This additional anchor required for D.P. > 40 PSF.
CONCRETE ANCHOR NC_DTESI ) o . 3/16" X 2-3/4" TW CONCRETE SCREW
1. Concrete anchor locations at the corners may be adjusted to maintain the min. OR ASTRAGAL PIN CAPTURE
edge distance to mortar joints. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE 1/2" DIA. HOLE (IN CAP]
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL \ .
SR , ® 7 @
=& LA =P =
'jﬁy vé mhénsa_”_v 'L3/" 'l ;
TAPCON | 1/4' 1-3/4" 1/ZDIA-HOLE. pEran 2 DETAIL 2 DETAIL 3
DeWALT N " " " Outswing Inswing Inswing
uLtRACONS| 1/ 1-3/ 1 4

s #8 X 2-1/2" PFH WS

= #8 X 3/4" PFH W$

~— 4" X 4" HINGE

O
=z
x
e}
& S
s ..
a A=
> o <
] =
HE
<l
5 g
2 o
S %
o a.
s
g&ﬁm
L
o
o
S
o
g2
NG
Ol 10
D~ %
53; @
(o]
SIS I
T |
QIR
mm
==
SIS
ala
3|5
o
N
SN
:8§
SeE
~lo
NiT&IZ
patE: 11,/02/16
scaEe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4647

SHEET 7 OF 7

© zo16 RW. BuIlLDING DONSULTANTS INC.



